MERCRUISER (2.7L MIE GM 250%-2 1336]
Serial Mbr Range: OFE22100 THRU OFG22150 ()

4

Ref |Clazs|Part

IRING HARMESS & ELECTRICAL COMPOMENTS

Description

Qi

Comment

| A

Footnote

2 22 805328 1|ELBOW 1

3 215425/ 0IL PRESSURE SEMDER 1

3 37293|0IL PRESSURE SENDER OPT. |[DUAL STATIOM)
4 9725741 WATER TEMPERATURE SEMDEI|1

4 4573441 WATER TEMPERATURE SENDEIOPT.  |[[DUAL STATION)
5 13 26936| LOCKMWASHER 2

£ 1A E2213] WUT 2

i 205368T [MOUMTING BRACKET 1

g8 88 806950 | CIRCUIT BREAKER [S04MP) 1

3 10 57883 SCREW [3/8 M. 2

10 83 9E158|STARTER SOLENOID 1

1A 10 205564 SCREW 3

12 13 269932 | LOCKWASHER [1/4] 2

13 i 94330[NUT [1/4-20] 2

14 13 26996 | LOCKWASHER (#10) 2

15 1 EE219|WUT [10-32] 2

16 25 97861 |[INSULATOR 1

17 B0G735T |BRACKET 1

18 10 806534 | SCREW 1 [FLATHEAD]

15 10 73287 |SCREW 1

20 1 EE213|MUT 2

21 B0E95E6T 4|I1CM MODLULE 1 1
22 10 B0B326| SCREW 2

23 BOGE1T |[KNOCK CONTROL MODULE 1

24 10 B0EZ27 | SCREW 2

25 BO0EE12T [KMOCK SEMSOR 1

26 22 BO0E705 )Y -FITTING 1

27 22 36382|PIPE PLUG 1

28 BOVETAT |BRACKET 1 1
25 10 34363 SCREW 2

30 13 35048 | LOCKWASHER 2

Kl 23 57369 SPACER 2




